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~ AHE2ZAIE Y D|EFRH| 42
171,600 x 1074 2 = 1,716
- AF2SHRIXE 22/ 500,000 x2CHx 18] = 1,000
301
Bt A2 2,500 2,300 200
1,500 1,300 20009 BHAMAIHI B A2
OAFZUAIR ZA L DSEAL DAl
5,000 x 150 x2= = 1,500
1,000 1,000 011 JIEtR A2
oAIERIG S DI2I0I AQ| BA2
500,000 x2 % = 1,000
200 (= 837,854 & 269,147 1 0]
AFS Ol AF 2,666,045 2,034,403 631,642 [Al 1,559,044 X 0 ]
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XF:(3000) B MIONLHl 2+ (3300)2EXASZIHLH| & :(3310) AR XHRIIHe Mg (3311) s KIS HIAIEE: (210) 2 & AL (2] [0 ]
i = S == S i}
O]l At o A = 9l 2
I 2 S MIE . NIMIE =2 O]l &b oM = A 2
210 [=2 837,854 &= 269,147 1 0]
BXALY 1,925,782 1,473,526 452,256 [Al 818,781 0 ]
201
UBr2 A Y| 2,000 2,500 A500
2,000 2,500 A500(01 LEH23H|
o6. 22|
- AEXIFIZ A 5,00094x4008 = 2,000
(=) 600
() 420
(Al 980
202
o H 2,500 2,000 500
2,500 2,000 500(01 2LHOHI
o A2 XIS ESH| 10,0002/ x250% = 2,500
(=) 750
() 525
(Al 1,225
206
X 2ul 50,929 19,580 31,349| o AR A Bt R 2HH A X 1,000,000 x2MH A = 2,000
(£) 600
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XF:(3000) B MIONLHl 2+ (3300)2EXASZIHLH| & :(3310) AR XHRIIHe Mg (3311) s KIS HIMIE: (210) B E AN (2] [0 M)
ot = P IR = m)
— of Ao - Hl - A = ol %
R ERLE = of & o | = oA 2 - = -
(Al 1,400
o A2 XRIG OHEEHIME 400,0002x30X = 12,000
(=) 3,600
() 2,520
(Al 5,880
oAERIGIE Aoty R 4,50094x2004 = 900
(=) 270
(%) 189
(Al) 441
odHiE =M X
- LIS =AL2 2EHICH 28,480,000 x 14!l = 28,480
(=) 15,948
(%) 3,756
(Al 8,776
- NEA 2rHIE 6,5982x100¢ = 660
(=) 290
(%) 110
(Al 260
- =54 gHH 4,58281x170 4 = 779
(=) 333
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X:(3000)Z RN 2:(3300)2E NS EINLH B (3310) AR KRR HIEH: (3311) SR8 H HIAIE: (210) 2 E ALY EEENEERE)
ni; = b I R = m
— of Ao - Hl - A = ol %
R ERLE = of & o | = oA 2 - = -
(%) 103
(Al 343
- AURWAES sl 2 6,110,0002x1A! = 6,110
(=) 4,277
(%) 531
(Al) 1,302
301
SN = 198,000 183,000 15,000
198,000 183,000 15,000/08 222 A2
oMZIAAl B2 A 1,800,00024x110% = 198,000
(%) 19,800
(Al) 178,200
307
0I2+0| & 2,500 0 2,500
2,500 0 2,500/01 2l22R2H|
COIMEZSXZHE 29 50,0002x500t2] = 2,500
(%) 300
(Al) 2,200
401
N 1,628,853 205, 158 1,423,695
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Z+:(3000) ZMIOHEHl  2:(3300)=2E X EEILH| & :(3310) a2 Xt N Mg (3311) s XIH NIAIEE: (210) B = ALY [S2F][&

ni; = b I R = m
— of Ao - Hl - A = ol %
& 2 E HE MM = o & | = oA o - = -
CHH
1,596,835 203,691 1,393, 144|01 Al&H|

oA 4,500,000 x2kn = 9,000
(=) 7,200
() 270
(Al 1,530

o XA 3,316,232=x100ha = 331,624
(=) 83,668
(%) 59,235
(Al 188,721

o= IR

- Al&H] 1,065,9112Ix1,028ha = 1,095,757
(=) 612,318
(%) 146,956
(Al 336,483

- ALAIA A 60,0002 x700ha = 42,000
(=) 21,000
() 5,040
(Al 15,960
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XF:(3000) B MIONLHl 2+ (3300)2EXASZIHLH| & :(3310) AR XHRIIHe Mg (3311) s KIS HIMIE: (210) B E AN (2] [0 M)
ni; = b I R = m
— of Ao - Hl - A = ol %
R ERLE = of & o | = oA 2 - = -

o AZIHFHE YHAIY

- LI ZAH(ZATH 212,3302x300ha = 63,699

(=) 35,693

(%) 8,405

(Al 19,601

- NS (EE0LHE) 101,9902x100ha = 10, 199

(=) 4,491

(%) 1,713

(Al) 3,995

- B54 (2R UE) 100,92324x170ha = 17,157

(2) 7,353

() 2,972

(Al 6,832

- AURHAS(E2YH) 3,500,000 x 1Al = 3,500

(=) 2,514

(%) 315

(Al 671

- AUSRTHAS(THESMA) 23,899,000 x 14! = 23,899

(2) 11,949

() 3,585
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XF:(3000) B MIONLHl 2+ (3300)2EXASZIHLH| & :(3310) AR XHRIIHe Mg (3311) s KIS MIKIEE: (210) B ALY (2] [0 ]
ok = %S IS IR == e im}
O]l At o A = 9l 2
I 2 S MIE . NIMIE =2 O]l &b oM = A 2
(Al) 8,365
26,600 0 26,600(02 22/H|
o= I RIIAIY 22/l 38,0002 x700ha = 26,600
(=) 13,300
(%) 3,192
(Al) 10, 108
5,418 1,467 3,951/03 A& =201
o g X2l U =I)IRIIALY Al LY
1,504,981,0002x0.36/100 = 5,418
405
KA SH] 41,000 10,000 31,000
41,000 10,000 31,000|01 XA SEFH SH|
o pEXGIX 2 30,000,000 x1CH = 30,000
(=) 9,000
(%) 6,300
(Al 14,700
ocsHEdI| 2 800,000 x10CH = 8,000
(2) 2,400
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Z+:(3000) ZMIOHEHl  2:(3300)=2E X EEILH| & :(3310) a2 Xt N Mg (3311) s XIH NIAIEE: (210) B = ALY [EFRE][E:d]

t = ST I == e Im]
O]l At o A = 9l 2
I 2 S MIE . NIMIE =2 O]l &b oM = A 2
(%) 1,680
(Al 3,920
o2FIIX=Z 2 3,000,000 x1CH = 3,000
(=) 900
(%) 630
(Al) 1,470
220
KA AL 740,263 560,877 179,386
206
WA 80, 155 78,135 2,020 o At RH| R
- 23 2 3& 6,00024x500& = 3,000
- E3EO 60,000 x40 = 2,400
- &HE 3,000€x1000 = 300
oAEME EE2 MEAX(XIE)
15,000, 0002 x 14! = 15,000
oAE22AIR 22T 1,3272x1 4 x1159x1702 = 25,943
o2®I| = 8tdlel nH 45,0002 x5000 = 2,250
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Z:(3000) B XM LHl  :(3300)BEAR L ENLH| 5 (3310) AEI X1y HIg:(3311) s X8 H HI I : (220) XER A 4 [EPE] [ H]
2 = & 4 = | |
Ol &b <R &t = J| =
.2 g NE AAE =2 of &b o E A &
cZAsEE +2 2 IHPY
- 2 (HSUR 2 58) 35,000&/x3002 = 10,500
XrIE 13,000 x200 2,600
HEH 7,7002 X300 2,310
NF==(SH) 5,000&x200% 1,000
ASHA L UL LF0FI #AS 227
5,000&x1,000= 5,000
oL A=Y X2 dAME HEEP 2
-JIHEY @ 35 20,000& x4 Zx57H 400
CXALS S UM %M P
A 3,500 x40 x33] 420
azH 6, 100% x40 x33] 732
W xd== Al8lS bz 7
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Z:(3000)ZRONLHl  2:(3300) REXLENLH| 8 :(3310) AT AN M (3311) S XI8 S KIS : (220) XEHI A [2rE](ce:de]
o = S R im)
of & o AF 2 ol =
.2 HIE A = of & M = oA
- MEE 7.0002x3002 = 2,100
- 28H2 6.000&x2002 = 1,200
caTHMY X SSEF AP
- IS8 HY 9 58 100,000 x50 = 5,000
401
AN&EH 2L 637,608 447 542 190,066
W]
634,300 445,100 189,200|01 Al&H]
oAESLAE LA 7,000,00081x204 4 = 14,000
o4 S WE XY 500,00024x4974 2 = 24,500
o8t U =XAILS RX22  15,000,0008x28] = 30,000
oHO WA HYE BAXH
20,000,0002 x 14} = 20,000
SZYAIYS B &2 TS MH
2,600,0002 x58ha = 150,800
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:(3000)ZMIHEH  2H:(3300)BENSSENSY 8:(3310) RN M (3311) S XI8 S NIAI 8 : (220) KR AL (22 (o9 He]
o = S R im)
o & = At = 0 2
.28 HE NME = of & ¥ = A
SUCIS AG7-1BAK| UCH AFALEH Ofl'2Z AH(L=180m, H=6m)
100,000, 0002 x 14! = 100,000
CHESEE WS FUX AAER O At
15,000,0002 x 14! = 15,000
CEE2E BEAF AAIEH ML SAl
30,000,0002 x 14} = 30,000
80 FRET2M BAXH(7TH S¢)
50,000,0002 x 144 = 50,000
CEOIS 3EXU SHAXIBA
100,000, 0002 x 14! = 100,000
SEOIS 5SAIL S L G4 SIS
100,000, 0002 x 14! = 100,000
3,308 2,442 866(03 Al & = CHH
STBAIY L AAFEHOI ALY Al & RO
525,000, 0008 x0.63/100 = 3,308
405
] 22,500 33,700 11,200
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X (3000)ZMINEHl 2 (3300)2E R BEINSH| B (3310) AR KRN Mg (3311) s X8 S HIKIES: (220) Kt JIAFES (SR
ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = of & = A 2
22,500 33,700 A11,200(01 AL S Z 5 =)
oEHUA 242 X
- B8 PHAZ(ZUHY=FHUHA)
800, 0002 x5CH = 4,000
oSH MEMEIBE REI| R
2,000,0002x701 =9 = 14,000
oSE Y (SH 7, MEXF 2)
500, 0002 x9CH = 4,500
400
VEIERS 800 1,600 A800
420
J|Ef 800 1,600 A800
=1 800 1,600 AB00| o ABIAE AMEIDOI BAH 40,0002 x20% 800
3320 (= 223,181 & o 0]
SNBSS =T 851,062 1,195,842 A344,780 [Al 627,881 i 0 ]
3321 (= 223,181 & 0 0]
K| 2= THGH CH 24 AF: 851,062 1,195,842 A344,780 [Al 627,881 #H 0 ]
100
2 AHOH| AF 16,987 16,706 281
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ZH:(3000) FMIOHEH]  24:(3300)=EXNJAESZIHetd| & :(3320) X =T H2tel MIEH: (3321) KL= THOHCH R AR AIAISE: (120) AR A H| [ERH] [ HH]
t = ST I == e Im]
O AF oM o 2 ol =
X 2 B NIEE. HIMIE = of & o = A 2
120
AAEAY| 16,987 16,706 281
201
o529 H| 14,987 14,706 281
14,987 14,706 281|101 LetAH|
o1, UBtA Y|
~ X% L TOHOHAIY 2Bt EH
5,200,000 = 5,200
o6. 22|
- Xl =Mool 2 2= S| 5,000 x20H x25 = 2,500
o7.2U%2
— JHoH CH = & Y| 2 X
- 24| 300,000 x10CHx 13l = 3,000
- HE 300,000 x60Hx 13 = 1,800
o9 A& EH S XY
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X (3000)ZHMOKEH] 2 (3300)2E RIS EIRSH| 8 (3320) K| AT LRt HIBE: (3321) X1 =L THOHCHEH A MIAIEE: (120) 3 & & 2 H| (SR
ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = of & = A 2
~ THOHCHZH 20| 22| 1] 100,00024x10CH = 1,000
- gxDIEERERe 1,3272x20 ¢ x560H = 1,487
301
bt A 2 2,000 2,000 0
2,000 2,000 0/09 i AtAIH| B A2
oXHLUMBHARIIK SAIMZ 5,0002x400% = 2,000
200 (= 223,181 & 0 o 0]
AFS Ol AF 834,075 1,179,136 A345,061 [Al 610,804 i 0 ]
210 (= 223,181 & 0 0]
HXEALY 449,448 719,701 A270,253 [Al 206,267 0 ]
401
NEGEE! 449,448 719,701 A270,253
thyl
446,363 717,458 A271,095|01 Al&H
oE5l AdHA(=2A) HHIAF (L=700m)
— AAIE A 300,000,000&x3.73/100 = 11,190
- A& 288,810,000&x 14l = 288,810
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XF:(3000) B MONLHl 2+ (3300)2EXA SN & :(3320) X 2 TH 22| MIBt: (3321) X & L THGHCHEH ALY HIAIEE: (210) B = AL (2] [0 ]
ot = "SI mi
ol o o i - A = 5 =
I 2 S MIE . NIMIE =2 O]l A oH = A 2
(2) 150,000
(Al) 138,810
o &5t ASHAE(OIEA) HHIAFY (L=500m)
- ALAl A& A 146,362,00084x4.59/100 = 6,719
- Al&H] 139,644,000 x14 = 139,644
(2) 73, 181
(Al) 66,463
3,085 2,243 842|03 Al& S CHH
o AGHAEAHIAIY Al&2HY|
428, 454,00024x0.72/100 = 3,085
220
KEHMI AL 384,627 459,435 AT4,808
206
X 24| 32,200 6,325 25,875\ 022 X2
- PPERE 2002 x18,00000 = 3,600
- 28= 3,000 %2000 = 600
- Hga 50,0002x302 = 1,500
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H:(3000)BRNLH  :(3300)2EXHSEHLE 8 (3320) XIS MIBE: (3321) K42 THOHCH R AR Al A : (220) KM AL [=23] (o9 &2
i = S == S i}
of &b o AF 2 ol =
.28 NE . HAE = of & % = oA
- 29 2 &3 20,0008x20% = 400
- &3S 5,0002x20% = 100
- 4E(S4)0HH 7Y 13,0002/x2,00004 = 26,000
401
PSS 352,427 453,110 100,683
CH
350,000 450,000 ~100,000{01 Al&H]
o X5t AGHA (L XIA) FHUIBAHL=500m)
- AAEAI 350,000,00094x3.73/100 = 13,055
- A& 336,945,00081x 14! = 336,945
2,427 3,110 A683|03 Al& S0
o ASHEFHIAIY Al L1
336,945,0002/x0.72/100 = 2,427
3330 (2 0= 164,586 1 01
ALz 3,283,022 6,758,104|  A3,475,082 [Al 3,118,436 1 0 ]
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XF:(3000) B MONLHl 2 (3300)2EXA S| & :(3330) 2L 242 Mg (3331) 21 8N HIAIEE: (110) 1 24 b EEENECHSE)
ot = PSR R mi
of AF o il - A 0| =
I 2 S MIE . NIMIE 2 O]l &b oM = A 2
3331 [= 0 = 24,586 1 0]
HEHMA 1,719,815 1,747,126 A27,311 LAl 1,695,229 i 0 ]
100 (=2 0 = 24,586 1 0]
2 A A 803,842 770,412 33,430 LAl 779,256 0 ]
110 2 0 = 24,586 1 0]
Ol 24H| 324,464 294,145 30,319 LAl 299,878 i 0 ]
101
ol 24H| 324,464 294,145 30,319
321,000 290,819 30,181/09 Yol
o2 424¢
-Je2 34,8602 x14Hx300Y = 146,412
() 24,586
(Al 121,826
= 146,412,00084x4/12 = 48,804
- Yxag 34,860 x14Hx 128 = 5,857
- Xty 34,8602 x14%x18Y = 8,785
= 34,8602 x 14 x52 = 25,379
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:(3000)ZMOHEHl 2+ (3300)BEXSENSH 8:(3330) A& e MIgt: (3331) 21 &34 RIAI 2 (110) 0124 bl (22 (o9 He]
2 = S i)
of &b o o 2 ol =
B MHNE MY = of & ¥ = A
- NZelaesd
4,76021x 14 x15A1 2tx128x1.5 = 17,993
- HHZ A 80,0002 x142x128 = 13,440
CHZEELHE
- 0123 44,4102 x2Hx3002 = 26,646
- 402 26,646,002 x4/12 = 8,882
=P 44,4102 x2%x 128 = 1,066
- XY 44,41021x2Hx18Y = 1,599
- =52 44,4102 x2%x52Y = 4,619
- AlZtelagt 6,070 x15AI 22 x 128x1.5 = 3,278
- HHZ A 80,0002 x2Zx 128 = 1,920
oll=ZH (+28 ¢ A3B)
- Ty 110,000&x16Yx23] = 3,520
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ZH:(3000) B MIDHEH]  2:(3300)2EXNREZIHEH| &:(3330)Ha 22| Mg (3331) AL A HIAIE :(110) 2 2 H] [EFREH][HR:EH]
Ot = P I H ml
of &b o AF = 9l =
& 2.8t HIE MAIE =2 of A M| = A 2
- gtsh= 110,000 x16% = 1,760
- 29 10,0002x16%Y = 160
- X3t 15,0002x16% = 240
- ot® 3} 35,0002x16% = 560
- OtM 5,0002x16% = 80
3,464 3,326 13810 LAIAtSt oIl
OANZE DEZEA Q1Y
28,8602 X2 x32 x20H A = 3,464
120
AR A 479,378 476,267 3,111
201
B2y 438,440 438,440 0
438,440 438,440 001 Yty
ol.Ysta Y|
- 2A2Y U2y 4,120,0002 = 4,120
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Z:(3000) B MIJHEHI  2:(3300)IENILE 5t:(3330) A& 22l AIgt: (3331) AL 8 H HIAIES: (120) B &= A (ERF] [ HA]
. B H = | - At = 7l ES
2 & Al Al ol s A&
- 2ABE2ERFHIYR 350,00024x108 = 3,500
- CANISEN JHY(PE,S)
300,000 x33] = 900
o9 A& ZH KX
- SAI%2 200,000 x20Hx138] = 400
- E| 22l 300,000 x1CH = 300
- SHESIA2 300,000 x1CH = 300
- Jl2s3delxe 1,000,000&4x10H = 1,000
202
01 Hl 25,080 24,240 840
25,080 24,240 84001 =LHOIHI
oXFQYLPFXOYI 10,0002x20x62Lx123] = 14,400
cAHNE URFXAHHI(SS) 5,640,0008 = 5,640
CRRMAZE Y T2SHILYTAI BUEX 2o =X
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:(3000)ZRIHEHI  2+:(3300)BEXS B Z Nl & :(3330) 2 &2 Mg (3331) AL 8 HIAIEE: (120) 2 &= 2 b [2rE](ce:de]
o = S R im)
of & o AF 2 ol =
.2 HIE A = Of & M = oA 2
40,0002 3% x4 x23| = 960
o4 L SIELAl S0
10,0002 x4 % x8 L x63| = 1,920
CRYLFRAREAH| 40,000 x3x62x33] = 2,160
203
AP ETH| 3.600 3.600 0
3,600 3,600 0|04 RA2EYRFAY|
CRNSYALEXH|(HR:27Y)  300,0008x128 = 3.600
301
SIERERNE 12,258 9,987 2,271
12,258 9,987 2,271/08 BU22QALN S
CBAURLRLA(VHIYLHZUAIRLEE)
-Je2g 39,900@x58x 128 = 2,394
- 4012 2,394,0008x2/12 = 399
- S| 4,00021x52x25Ux 128 = 6.000




X (3000)ZHINZH 2:(3300)RE KR HE S| B (3330)H & 22 Mg (333 Ha E R MM (120) 2 A = 21 CETNCEIEE)
2 = & " & H m
ol o o | - A = 5 =
DB E B HAE o o A M| = oA 2
- mEy) | BO0IKEZ x5 128 = 2,400
- m=y)
cos 110,00020x58 = 550
= 5,00020x5% = 25
ol 35,0002x6% = 75
.o 3,00020x52 = 15
_cogsasw 15,0002 x58x4Y = 300
200
A0l 4 915,973 976,714 A60,741
220
T ALY 915,973 974,914 A58,941
206
T 50,705 46,084 4621 xR ED
~ 21013t Hi3 28,0002 x40 = 112
e 5,0002x200 = 100
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ZH:(3000) B HIOHEHl =2t

(3300) = E Xt

K&t (3331)

o4 M B4 &

[s=)

MIAIE: (220) REAIAHS

(=73

0
0

r

]

=

t

in

03
rt

St

NI AIAE

j==}
=

=

Ol

o

A

=
=

Il

P

B
0
o

Yol
>

L

SAHA

=
2
Im

o
>
T

b
0
kJ

©
nir

6,000& x 104

4,000& x 104

5,000& x30H

20,000& x 150 m*

45,0003 x30H1

4,000 x 1004

36,000&x120&

10,000& x50 m’

15,0003 x320 %

800& x2,5000H

6,350 x350 %

60

40

150

3,000

1,350

400

4,320

500

4,800

2,000

2,223
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X:(3000)BHIONLH] 2+ (3300)2EXNADEINLY| 3h:(3330) 2L 22 MIEH: (3331) 2188 A HIAIEE: (220) Kb AL [ERF][¢9: &)
o = S R im)
O]l At o A = ol =
I 2 S MIE . NIMIE =2 O]l &b oM = A 2
oAU JIZ(EoHS B4=XM
- SJ|7 60,0002 x65S = 3,900
- Mo 25,0002 x42001 = 10,500
- OFX D 25,0002 x42000 = 10,500
- dY)|ILLE 300,0004x100 = 3,000
- &M 70,000x25&E = 1,750
- HH&E MO0 50,0002 x40& = 2,000
401
AlAH L 864,068 925,830 AB1,762
CHHI
860,000 923,000 AB63,000/01 Al&H]
CERBAA-SBXSS NI MN 2|2 AHL=900m,B=12m)
80,000,0002! x 1Al = 80,000
oAl SRS (2R2U)
100,000, 0002 x 14! = 100,000
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= (3000) ZRIOHEHl 2 (3300)2EXASEIRLH| 5 (3330)HA 2L HIBH: (3331) AL A HIKIBE: (220) KR AHES (SR
ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = of & = A 2
CIZERXNEAHI(2,650S) 30,000,000 x14! = 30,000
oLz=z AoiIrgza =23 400,000,00024x14 = 400,000
oSS LSIIZE DHI(20S)
50,000,000 x 14! = 50,000
S QB AHRI-AEI W (7TH2E)ZE M 2I|(L=1,000m)
200,000, 0002 x 14! = 200,000
4,068 2,830 1,238(03 Al =0HH|
oC2eX22l Al&=UY
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